STEVES AND SONS Sy

203 Humble Ave. 74" MAX. OVERALL AT

n San Antonio, TX 78225 FRAME WIDTH '7;3/ g
=i=0B=0=0
nimEEmin

STEVES

Opaque Fiberglass Double Door
w/ or w/out Sidelites
INSWING
"NON-IMPACT"

98" MAX. OVERALL FRAME HEIGHT

—_— |

- INSWING -

Ly ) Ll L

AN
E OF

o\
wiE

¥

e 2

.

.&'-‘;'{{9‘:
T

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

|

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 431 Opaque Fiberglass Doors\C - Drawings\TX-4094-95.dwg, TX-4095

wn
apEgps o
== | == ll oo | 85
S]] =
s L
S, |, 2@
<»:% g é‘: ©
~——— 106.5" MAX. OVERALL FRAME WIDTH gg 2 o j
15.5" MAX. 74" MAX. e |9 2
FRAME WIDTH ii FRAMEWDTH | e xl g 2
2 o =L
(@] o
. . g |
EVALUATED FOR USE IN THE STATE OF TEXAS . ” N
The Fiberglass Door system described herein complies with the 2018 International ) — m
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code o Z
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: Lzu ‘é’ g o
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment = ) 8 3l
to base material shall be beyond wall dressing or stucco. ; =z €|z S
2. When used in areas requiring wind-borne debris protection this product is required 3 > § o g %
to be protected with an impact resistant covering that complies with Section < Z ol S| G
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. 3 SIEls (g
3. Allowable design pressure requirements must be equal to or less than the design < N ‘g § [d
pressure rating shown in the design pressure chart, sheet 1 of this drawing. 020 SJISIR
4. Conditions not covered by this drawing are subject to further engineering analysis. o L,éJ %‘ §
yHE
TABLE OF CONTENTS J o|x|=
SHEET# | DESCRIPTION = 075" NENE
1 Typical elevations, design pressures & general notes o |9l
2 Door panel details S [~
3 Sidelite panel details NN
4 Horizontal cross section z
5 Vertical cross sections oATE: 5/19/10
6 Vertical cross sections S SCALE:  N.T.S.
7 Frame anchoring XX 74.0" x 98.0" N/A +45.0 -45.0 owe. Br: UK
8 Glazing de’rcil:s — [FS
9 | Astragal details OXXO 106.5"x 98.0" | 7.0"'x79.87" | +45.0 -45.0 T
10 Bill of materials and components e

sHeer _1 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.




"ON| SANVLINSNOD 9NIa1ing ‘Mm's8 0Loz @

2S8LL—d # NOLVALISIORY 40 ILVOLILLNID g SNOISIA3Y v ToN
SY¥3INION3 TYNOISS3J0¥d 40 Q¥vVOs SvXal : ol . O_
L6665 018 o ouous STVL3A 13INVYd 4004 S 3BUBYY SWON JonPoid/ JAUBR| 51/91/7 | 1 NI x v 0 | =
§ : — 3 S|y
S6SEE ™14 OSMIPA 0€Z Xog 'O°d &@ ATENISSY ¥0 Livd NOILYYNIIINOD ONIMSLNO IAOW3IY oS « 21°
"ONI ‘SINVLINSNOD ONIGTINg S41| 3000 /08I 810z Ol 31vadn| oz/8z/s| 2 || =<| | |2 U 2_
¥00a SSv19438l4 Ol |E|E|g B
€ZLYOL# "3'd Svxal SNOS ANV S3A3LS Gl sl el|E &
‘3'd ‘IPIWYDS 4 uopui :Ag peJpdeud sjuswnoo(q :10N00Yd 3518 W z m z

//
1
/-

EXTERIOR

VERTICAL CROSS SECTION

INTERIOR
(22
\2/

S—L m ;xS m + ]
] m.m Wuu ".M
mm — M.W
5 L= 3
@ . E| £
By ——  =— /8
: ¥T = 00
¢l f=— o z @
5 S
IQ # “ ; S F 9 :
= N = w —
o g - == 5 =1 il &
] =0 w8 — SiES
—— g | 2 T, B 1
7 < e o - 091 @ m
=
: s 5 e © ®
S z S z
||||||| —_— — — Z
mw @ | © : m%m
oz
Y x4 | 8t
S B ke
. — T Ze o _ _ — ] @)

35.75" MAX
PANEL WIDTH
9
DOOR PANEL
Fiberglass

(40)2

1HOIFH TANVd "XYW .5T'5é o=

-2 'BMp'S6-r60p-X L\sBuimelq - D\siooq sse|biaqiy anbed | £ ya\sse|Biaqid-si00q pabuiH\su| J01daQ sexa] - g\lusuewlad - SUOS pue SaASIS\SIUBID\:Y



‘ON| SLNVLINSNOJ 9NIa1IinNg "My 0102 @

et # NOLVALSIORN 40 3LVOI4ILNID SNOISIAJY
ON3 VNOISS3H0¥d 40 Quvod SvX3L A8 Jd1vd [ON] o o
L616°6S9°CLE 'ON euoyd Svi3a |_m.2<l 3Ln3als 5P abuby) swWDN 3onpoid/JNudi| GL/91/7 | | N ZIES 2 2 H_
S6SEE 14 OOUIPA 0£Z Xo8 ‘O'd %@. "A18W3SSY 80 Lyvd NOILYHNIIINOD ONIMSINO JAOWIYH o= - w |
“ONI ‘SINVLINSNOD ONIGTING S41| 3000 0di/o81 810z 0L 31vadn| 0z/8z/5 | z |<| < Z ] 3_
4000 SSY19438!4 Wl 15 sle &
£ZLPOL# ‘3°d Svxal SNOS ANV S3A3LS MR R=N P o
‘3'd ‘IPIWYDS 4 uopuAk :Ag pedodeuad sjusewnooq 110Na0Yd M m W W m M
U %, % .....0u..t
n.- b .....,V/\)\mu.
-:%§.\...u.m..mm &Mm...
ﬂﬂuac&larah.u..ﬂ().).
o)
2 (%) =
LLj o
— —
5 =
i \Q 5
® (Bt :
5 X ® 5
[~
O Q o
oz (]
L
Z ) 3 >
|" _.ON._. _‘| =
T =
(-
) S
~O w
= — Slo
wl o
T M= M 1 SE
TS .- ®
i i S 2
| = ju
ko m
N __W.O|L - qu
(@) .
" :@RO o A-.“w
(©)
e
(=) 2
(7]
2 RIS "
@ ¥ S P =
O B .:.\l...
o O = \I\ll\ - =3
o oz Qo
>3 = (@) A
[ =z N . »
— m Ill.:OO _.lv
o
X
- D
| e ——
AR ///11111!11111111111] =
APl | ——
S
i T ) o
b e T o
ot % "m
[ = = X =
S B S T = 7 1l olg 2 o0
/Q — _T//// O I o) 1 8 pal 2 9£§
@ S EE 1] | SIS /85 00
g ek = = = | Qg = £ c Z| g €
i vl & Wo 9
s N b Z|E O ¥lE =
M N — S . @ D= Sab
- T T _ IHOIFH "O'T'A XYW .L8'6L mﬁv N I NS
> .= =5 =
<2%9 LHOIEH TANVd XYW .ST'S6 a2 32
== s = 5|80 223
SZr 3 floo 5o
a 0 w|= """ 0|5 =
=1L g Ak v
852 g3 %
Ol M 2T S

#-€ 'BMP'S6-r60p-X1\sBuimelq - D\sioo( sse|biaqi anbed | e Yg\sse|Biaqi4-si0oq pabuin\su jo 1daq sexa] - g\lusuew.ad - SUos pue SaA81S\SIUdID\Y



"ON] SINVLINSNOJ aNIaiing ‘m'sd oLoz @

A\

2S8LL—d # NOLLVMLISIORM 40 3LVOI4ILN3D 3 SNOISINTY
SYIINIONT TYNOISSIJ0N8d 40 Quvog Svx3l J1vd [ON] o o
L616°6G9°CL8 *ON euoyd SNOLD3S mmo.mo VANOZISOH AP 8bubyy aWDN 32npoid/Jnuo| G1/91// | | ﬂ kS v & H_
S6SEE "4 OOMIPA 0£Z Xo8 ‘O°d &@. ‘A18W3SSY ¥0 Livd NOILYYNOIANOD ONIMSLNO IAOWINH o= ~ A
“ONI ‘SINVLINSNOO ONIaTiNg S971|_3d00 0di/281 810z OL 31vadn| 0z/82/5| 2 |<| < £ V_A 4_
f 4000 SSY19438l4 0 1o
SZLYOL# 3'd Svxal SNOS ANV S3AALS o | M H z - 5
‘3'd IPIWYSS 4 uopuk :Ag peupdeld sjuewnoog 110NaoYd W w z| w z
A\ >
© e (=)
[
()
a
= = 2 .
) O _/'. \‘ 3 \\lﬁ
i -}
og ) ¢ -y <
C 2|14 L
- W ¢ M
[a%4 A — 21| " oz
oz - — <C 7 =)
O o AIU. < % 1 ‘.
v ©) ¥ O @ A1
z = s e
>< W m ] 4 \‘
L £l |4
= H y
\
mv “
H N

Z

NTERIOR Gg

Sidelite ass'y fastener; 6" from each end and
6 more screws equally spaced between.

(8 screws total per jamb.)

NOTE:

1.

m HORIZONTAL CROSS SECTION

(19
EXTERIOR

®)

Ak

O ]

DRYW.

=

SEE
NOTE 1

0.18"
C'SINK
(TYP.)

7“3\ HORIZONTAL CROSS SECTION

1/

INTERIOR

EXTERIOR

\

10

4/

SEE
@NOTE ]

50

E

:
i

e

%
@Q
7

18
7“4\ HORIZONTAL CROSS SECTION

¥

A\

Pt 'BMPS6-1601-X1\sBuimelq - D\s1ooq sse|biaqi{ anbedQ | gy ya\sse|biaqi4-siooq pabuiH\su| Jo 1daq sexa] - g\1UsUBWL.ISd - SUOS pue SaA3IS\SIUaID\}Y



‘ON| SLNVLINSNOD aNIa1ing

‘MY 0102 O

2S8LL—d # NOLWVALSIORY 40 3LVOLAILLYID = SNOISINIY T ToN
SY3IIANION3 TVNOISSIH08d 40 QN¥VO8 SWX3L i o o
L616'650mta on suoud SNOILO3S SS04O IVIILYIA S 36UBY) SWoN 1onpoid/Jnuow| 51/91/7 | 1 £ I 0 0 1_
. ; : _I. J 2y
S6SEE 14 OOUIDA O£Z Xog ‘O°'d \Sdg. A1BW3SSY ¥0 Lluvd NOILYYN9IINOD ONIMSLNO IAONIY ] b .
Bl BINVIINSNOS SNIETINE S41| 3000 0¥I/081 810z 0L 3ivadn|oz/8z/s| z ||<| | (2 5_
¥00a SSY19¥38l4 Wl &5l 2
SZLPOL# ‘I'd SWYXIL SNOS (ONV S3ATLS L M s yv|E m
‘3'd IPIWYDS 4 uopuk :Ag pedodeld sjuewnosoq :109NAa0Yd W % W w w w

mm.\
,@N

-~ 7y

M 3

(274
©)
oz
L
[ —
><
L
S
oz
®)
oz
L
[ —
Z
O
=z
T
<C
[N
5
>3 (*dAL)
= ~— 3NIS.D
/ S0

®

A
DRYWALL \ 7

=

o O

O Oy

oz W=

— | &

ol Qs
Q| o
R.
0|53
-1l =2
38

N =28
230
Wwiaon
>(ET
..W

oz

o

(® %

Ll

—

=

EXTERIOR

INTERIOR

/“2"\ VERTICAL CROSS SECTION
W Shown w/ ADA threshold

WOOD
P ) CONCRETE

J

//

EEENEEE SR

®

7“3\ VERTICAL CROSS SECTION

\y Inswing configuration

-6 '‘BMp's6-1601-X L\sBuimelq - D\sioo(q sse|biaql4 anbed( | ey ya\sse|Biaqi4-si0oq pabulH\su| jo 1daQ sexa] - g\IUBUBULIR] - SUOS PUE S3ABIS\SIUBID\:Y




"ON| SLNVLINSNOJD 9aNIaing "Mm"'sd oLoz @

2S8LL—4 # NOLVHLISIOZN 40 ILVOI4ILNID N SNOISIAIY T ToR
SUIINIONT TVNOISS340¥d 40 Qivo8 Svx3al i o 07
oLseorri ton suus SNOLLOIS SSOHO TYOILYIA sir | —ebuoy swon wpeiaz TRl si/aL/2] 1|2 | 4% (8| 9|7
S6SEE 14 OOWIPA 0£Z Xog ‘O°'d \S@% ATBNISSY d0 Ldvd NOILYYNIIINOD ONIMSINO IAONIY o= . 2|8
“ONI ‘SLNVLINSNOO ONIGTINg S31| 3000 0di/281 810z ol 3ivadn| oz/8z/s| 2 || =| | (2 ] 6_
4000 SSY19¥3414 Wl & Ele B
£ZLYoL# ‘3'd SvxalL SNOS ONV S3A31S wl e g|E &
‘3'd “IPIWYDS 4 uopuii :Ag peJdpde.ad sjuswnoo(q :109Na0yd W S Z 5 W &
G
]
=0
)
c £
o Q0
ol
R
< B
m —
£ 9
M O
5 €T
O O c
z » B0

1.

EXTERIOR

m VERTICAL CROSS SECTION

W Inswing configuration

INTERIOR

(*dAL)
—— 3NIS.D
S0

—®

_—
/ EXT. SHEATHING

"‘

e
y
y
y
y
!
!
N
N
N
J

h
N
b

i

'\
N

EXTERIOR

m VERTICAL CROSS SECTION

INTERIOR

DRYWALL \
—~
@/

-9 'BMP'S6-1601-X L\sBuimelq - D\siooq sse|biaqi4 anbedQ ey Ha\sse|Blagi4-siooq pabuiH\su| j0 1daq sexa] - §\IUBUBWLId - SUOS puB SaA1S\SIUBID\Y



2X FRAMING TO BE DESIGNED BY THE . u,
¢ ENGINEER OR ARCHITECT OF RECORD ¢ 5,'{; ‘Lg "
4u (TYP.) —] (TYP.) 4n (TYP.) q_ - 3" ’é;"%:..- E 9 © 5 "N)
\ " I 3" (TYP (TYP.) 23 £x @ UG
3 (TYp) 4'(1vp) 3'(TvP) (WP) = = ' gu By g8 BT
" " - b L Z z
3" (TYP.) - ‘ L ‘ ) 4" (TYP.) — * o gu. =5y ‘j;
e c =
[ LI I 1 o [T] R AR LIYE Fare T f;,?o §§ ggg iz
o | L Tl [T 1 17 L
SEE DETAIL 1 — T SEE DETAIL 1 g g g® gg
o= ©E A L
- - = . B ||| HEAD & JAMBS B = = 2 T g g Z
HEAD & JAMBS (TYP.) i £ 3% 2o
2X BUCK (TYP.) ) e 3 EE 4
\ ) * 88
— - — £l — B 7 a £ § m%
N ] : R 5
FRAME = g
- - e || - - MuLON = —— \ -
e S (TYP.) 3 i, T
> a é o =
e B - o SE 2
- TS I 1 =9 1T 25 | 2
o) ) =
SILL (TYP) SILL (TYP.] a8 | §
o S
- 0 WOOD = . B B - 5? ;—Z' iz:)
CONCRETE SEE DETAIL 2 SEE DETAIL 2 L& & W
I i . | i - B8 |42
— . 8.
I | AT 11 11 | & 1 Ql [ Pl g § 2
(@) o
% £ £
2 %1%
FRAME ANCHORING HINGE JAMB FRAME ANCHORING ' ASTRAGAL —I=
(XX) (OXXO) wlS
SEE
o|%|
FLOOR SUBSTRATE MATERIAL Q 2 §
CONCRETE (MIN. 3000 PSl) S8l e o
WOOD (S.G. >=0.42)(TYP) @ z S =
olZ|Z| |5
SE NS
ol3§ |
a
W\
CONCRETE ANCHOR NOTES: l'}: 3ls
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. / g3 ES
edge distance to mortar joints. ® 7 = =
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo / 3 NK
maintain the min. edge distance to mortar joints, additional concrete anchors %; o |9z
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. = 5 - NENE
# Concrete anchor fobler_ B ' s - T8
CONCRETE onTE: 5,/19/10
""" A et K SCALE:  N.T.S.
W | 318 1-3/4° / (40) WOOD e 5 UK
TAPCON " & i ‘l _‘l 2“ 4" ‘
uttraconN® 174" 1-3/4" N 4 HINGE DETAIL LATCH & DEADBOLT DETAIL Astragal Sirke Flate Astragal Strike Plate Py
w/ Standard Strike Inswing
sHeeT 7 oF 10

R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 431 Opaque Fiberglass Doors\C - Drawings\TX-4094-95.dwg, 7-4

© 2010 R.W. BUILDING CONSULTANTS ING.



"ON| SLNVLINSNOJD 9NIgTing "My oLoz @

S B 0 S 8 - SIvgTon
SS340¥d 40 Quvog SvxX3al ; o o
B T y—— S SNiZvie M abupyg awoN 3onpoid/ynuoW|GL/91// | | T 0| X e 5@ 1_
S6SES 14 OOWIDA 0£Z Xo8 °O'd \SU ‘AT8WISSY d0 luvd NOLLYYN9IANOD ONIMSLNO IAOWIY ol 1. e &
"ONI ‘SINVLINSNOD ONIGTING gﬁ S41|_3000 0ui/281 810z 0L 31vadn| 0z/82/5 | 2 |<| < = 8_

Y004 SSY19¥34l4 Ol & sle B

SZLYOL# 3'd SvXaL SNOS (aNV S3A3ILS ] M sl m
‘3'd IPIWYOS °4 uopuk :Ag pedpdeld sjuewnosoq 110N300¥d M 2 W nuw m -

1/8" TEMPERED

GLASS
AIR SPACE

1/2" GLASS BITE
_1/2°0/A
GLASS THK
\( 4\

1/8" TEMPERED

GLASS

Gl GLAZING DETAIL
RSL Sidelite Frame

K
w0
B <<
A S B ....\ QL)
o m e m
oz oz
o z
& z
[m)]
& g
(R N]
< O &
v < e
=3 a =
= M L w v
5 <7 < -3
o WS
(%] )
S as %
O =0 Hln.m
™ — - o
S Lo\~ &
G"
f = Wm
b N|»
([ ﬁ- : MU_
* OO
Q\ | RS | @
o L
[a)]
m ®) & [a)
L ] a % &
> = = 9 d
Z i v
- - we 2 By
0 gJ oz
58] >0 ZF = <C
= <=7 T 2o
(%] OS
(%) (%]
S &S
o =0
& o

GLAZING DETAIL
RSL Door Frame

J
5

@)
-

EXTERIOR
INTERIOR

-8 'BmMp's6-1607-X1\sBuimeq - D\s100( sse|biaqi4 anbedQ L ey Ya\sse|61aqi4-si00q pabuiH\su] jo 3dag sexa] - g\}usuBWIS - SUOS pue S3A3IS\SIUBID\Y



"ON| SLNVLINSNOQ 9NIaIing "My 0102 (@)

ZS8LL—d4 # NOLVALSIOFAN 40 ILVOIdILY3D %) SNOISIAIY 3Iva_[oN]| o o
SYUIINIONI |_<zo_mwmn_o~_.w_ 40 Qyvog Svx3al SIVLIA IVOVYISY o mm_coco Ay uozbo._n_\@:cos‘ m_\ms\h 5 ﬂ . VJA ﬂ % H_
GAREE 14 1o I g DvE " \§ "KT8N3SSY_90_Lavd NOLLVIN9IINOD_ONIMSLNO IAOWIY il Q|8
-ONI 'SINVLINSNGD ONIQING @ S41| 3000 J4i/28l 810z OL 31¥adn| 0z/8z/5]| ¢ NN J 9_
4004 SSY1943914 ol ola|g R~ E
SEEL T S SNOS aNY S3A3LS ilglelglE | B
‘3'd “IPIWYDS ‘4 uopuki :Ag pespdeuad sjuswinooq :110NA0¥d clmn|Bd|o|a 0
I z
O
T
(@)
= L
R e
- <
O
/ A M_ X
q (2%
: 2
3 <
|| o
W59°C
[o0]
N a
N
wn
@ il
. 2
3 0
3
L ] M <
2 23
@) 2 €0 s3
= | __N 2
< o] < 35 X
| S) 4 pre — << @
Q J =
- e L
o T W > <
oz — a)
2 * < in] o) <
- me m_ [m)] = nNu w o _Dln -y )
O I M= O|w &2
Z x|(Z o o
< —| |~ <
alo = = =
- O — o] —
. _ m o~ 2 =
:m O L = W
Y9 N ==
0 B O =
z £ <
I < 5
———
i ! T 2
i = A
i o &g
o [ea) 7]
b .
i wm
8 dOl o=
D oz
L3
S & <Q
L [o) o
u= # O
A >3 <=
50 (5]
w o
o = <C
2 O
Q <
] oz
o —
i m V)
S <C
e = L
w [a=4 N
& 2 = w <
% B > &
w Q w C
-2 A= -
e 0 = % [a%
#* O @ =
= s >
Z LI
9= =
—— 5
s I T = oD

-6 'BMP'S6-1601-X L\sBuimelq - D\siooq sse|biaqly anbedQ ey ya\sse|Biagi4-siooq pabuiH\su| 4o 31daq sexa] - g\IUBUBULIA] - SUOS PUB S3A3IS\SIUSID\:Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Fiberglass\DR 431 Opaque Fiberglass Doors\C - Drawings\TX-4094-95.dwg, 10-4

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
B 2X FRAMING SG >=0.42 WOQOD
C 1/4" MAX. SHIM SPACE -
G 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 1X'OR 2X REINFORCEMENT SG >= 0.55 STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 FEMALE LITE FRAME - ODL POLYPROPYLENE
1A FEMALE LITE FRAME - RSL POLYPROPYLENE
2 MALE LITE FRAME - ODL POLYPROPYLENE
2A | MALE LITE FRAME - RSL POLYPROPYLENE
3 #8 X 1-3/4" PANHEAD SMS (LIGHT FRAME SCREW STEEL
3A | #8X1-1/2' PANHEAD SMS (LIGHT FRAME SCREW STEEL
4 ALUMINUM SPACER SYSTEM ALUMINUM
5 HOT MELT SEALANT / SILICONE SILICONE
7 WEATHER STRIP FOAM
12 #10 X 2-1/4" PFH SCREW STEEL
16 SIDE JAMB SG >=0.42 WOOD
17 HEAD JAMB SG > =0.42 WOOD
18 4" X 4"HINGE MIN 0.1" THICK STEEL
19 #10 X 3/4" PFH WS STEEL
20 | #10X2-1/2" PFH SCREW STEEL
21 KWIKSET LOCK -SERIES 690 CP PASSAGE STEEL
22 KWIKSET DEADBOLT -SERIES 690 CP STEEL
23 LATCH STRIKEPLATE STEEL
24 DEADBOLT STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
29 SIDELITE SPACER VINYL
30 DOOR BOTTOM SWEEP PVC
31 INSWING THRESHOLD ALUM/COMP.
32 ADA THRESHOLD ALUM.
34 | SIDELITE THRESHOLD ALUM./COMP.
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR )
CONSTRUCTION DETAILS
41 WOOD LOCK BLOCK WOOD
42 HINGE STILE - SG >=0.42 WOOD
43 LATCH STILE - SG >=0.42 WOOD
44 | TOPRAILSG >=0.42 WOOD
45 BOTTOM RAIL COMP./LVL
46 FRAME REINFORCEMENT §G > = 0.42 WOOD
47 POLYSTYRENE FOAM POLYSTYRENE
49 FIBERGLASS SKIN 0.08" MIN. THICKNESS FIBERGLASS
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR i
CONSTRUCTION DETAILS
51 ALUMINUM ASTRAGAL ALUM
52 | SIDELITE STILE - SG>=0.42 WOOD
53 SIDELITE BOTTOM RAIL COMP./LVL
54 | SIDELITE TOP RAIL WOOD
57 SIDELITE FEMALE LITE FRAME - RSL PVC
58 SIDELITE MALE LITE FRAME - RSL PVC
59 #8 X 2" PFH WOOD SCREW STEEL
60 ASTRAGAL STRIKE PLATE STEEL

4.56"

(9

HEAD & SIDE
Jamb

— 125 L

5.62"

31

INSWING THRESHOLD

L—*l» 1.37"

r—— 2.09" “

1.13"

‘ SIDELITE SPACER

B

4.56"

<:: ) ADA SILL

-

597"

@ SIDELITE THRESHOLD

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:

STEVES AND SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

FS
JK
BY

REMOVE OUTSWING CONFIGURATION

5/28/20 [UPDATE TO 2018 IBC/IRC CODE
7/16/15 |Manuf./Product Name Change

NO)| DATE

2
1

REVISIONS

oaTE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4095

sHeer 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



